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#include <stdio.h>

int main(void)

{
float h, w, bmi;
printf("Height[m]:");
scanf("%f", &h);
printf("Weight[kg]:");

scanf("%f", &w); BMIODETE

bmi=w/h/h; ————7

printf("BMI=%.2f¥n", bmi); 18.5 <= BMI < 25
if(18.5 <= bmi && bmi< 2
{
printf("MEE{AEE¥Yn");
}
else
{ e
printf("yER¥n");
}
return O;
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#include <stdio.h>

int main(void)

{

int a, b;
printf("a=");
scanf("%d", &a);
printf("b=");

scanf("%d", &b);

|f(a == D) /*:-> == */

{
printf("equal¥n");

printf("not equal¥n");
}

return O;
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#include <stdio.h>
int main (void)

int n,m;

Inti; TDIL—F

print]f(("l' ;nd="”) '& )
Egi(r:hl;c;\ém;nr:-l;) @)) -7
Eor (i=0;i<n;i++)

printf("%d ", n);
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return O;



